AGENDA ITEM NO. 11

COUNCIL TAX 2008/2009 FORMAL RESOLUTION

1. PURPOSE OF REPORT

The formal resolution for setting the Council Tax is set out below.

The base amount of Council Tax for properties in Band D, before adding Parish and other precepts, is made up as follows:-

	<u>2007/2008</u> (for comparison)	2008/2009
Wyre Forest District Council:	<u>£</u>	<u>£</u>
Net Expenditure	184.87	189.59
Less Surplus on Collection Fund	1.36 -	1.49-
	183.51	188.10
Worcestershire County Council West Mercia Police Authority Hereford and Worcester Fire and Rescue Authority	943.80 157.66 <u>65.01</u> 1,166.47	984.77 165.45 <u>68.21</u> 1,218.43
Base Band D Council Tax (excluding Parish Precepts)	1,349.98 ======	1,406.53 ======

Parish precepts are added to the total of £1,406.53 as follows:-

	Parish Charge
	<u>2</u>
The Charter Trustee Town of Kidderminster	4.20
The Parish/Town Council of:-	
Upper Arley	32.30
Bewdley	21.05
Broome	10.40
Chaddesley Corbett	30.09
Churchill and Blakedown	20,98
Kidderminster Foreign	16.01
Ribbesford	-
Rock	18.35
Rushock	20.27
Stone	6.02
Stourport on Severn	20.96
Wolverley and Cookley	20.50
	AGENDA ITEM NO. 11
	Page 1 of 7
Council 27/02/08	

2. RECOMMENDATIONS

- 2.1 To note that at its meeting on the 20th December 2007 the Cabinet calculated the following amounts for the year 2008/2009 in accordance with regulation 3 of the Local Authorities (Calculation of Council Tax Base) Regulations 1992 made under Section 33(5) of the Local Government and Finance Act 1992:
 - (a) **34,653** being the amount calculated by the Council, in accordance with regulation 3 of the Local Authorities (Calculation of Council Tax Base) Regulations 1992, as its council tax base for the year.
 - (b) The amounts set out in column 2 of Appendix 1 for each Parish being the amounts calculated by the Council, in accordance with regulations 6 of the Regulations, as the amounts of its council tax base for the year for dwellings in those parts of its area to which one or more special items relate.
- 2.2 To resolve that the following amounts be now calculated by the Council for the year 2008/2009 in accordance with Sections 32 to 36 of the Local Government Finance Act 1992:
 - (a) £54,958,174 being the aggregate of the amounts, which the Council estimates for the items, set out in Section 32(2)(a) to (e) of the Act. (Gross expenditure including Parish precepts and special expenses)
 - (b) £40,089,330 being the aggregate of the amounts that the Council estimates for the items set out in Section 32(3)(a) to (c) of the Act. (Income)
 - (c) £14,868,844 being the amount by which the aggregate at (2.2)(a) above exceeds the aggregate at (2.2)(b) above calculated by the Council, in accordance with Section 32(4) of the Act as its budget requirement for the year.

(Net budget)

(d) £7,930,386 being the aggregate of the sums which the Council estimates will be payable for the year into its General Fund in respect of redistributed non-domestic rates, revenue support grant, increased by the amount of the sums which the Council estimates will be transferred in the year from its collection fund to its general fund in accordance with Section 97(3) of the Local Government Finance Act 1998.

(External support and collection fund surplus)

(e) £200.23 being the amount at (2.2)(c) above less the amount at (2.2)(d) above all divided by the amount at (1)(a) above, calculated by the Council in accordance with Section 33(1) of the Act as the basic amount of its council tax for the year.

(The amount to be funded by council tax)

(f) £420,224 being the aggregate amount of all special items referred to in Section 34(1) of the Act as set out in Column 1 of Appendix 1.

(Total Parish precepts and special expenses)

(g) £188.10 being the amount at (2.2)(e) above less the result given by dividing the amount at (2.2)(f) above by the amount at (1)(a) above, calculated by the Council in accordance with Section 43(2) of the Act, as the basic amount of its council tax for the year for dwellings in those parts of its area to which no special item relates.

(Band D council tax for those areas with no Parish precepts or special expenses)

(h) The amounts set out in Column 4 of Appendix 1 for each Parish being the amounts given by adding to the amount at (2)(g) to above the amount of the special item relating to dwellings in those parts of the Council's area mentioned in Appendix A divided in each case by the amount at (1)(b) above calculated by the Council in accordance with Section 34(3) of the Act as the basic amount of its council tax for the year for dwellings in those parts of its area to which one or more special items relate.

(Band D council tax including Parish precepts for each Parish)

(i) The amounts set out in Appendix 2 for each Parish being the amounts given by multiplying the amounts at (2)(g) and (2)(h) above by the number which in the proportion set out in Section 5(1) of the Act, is applicable to dwellings listed in a particular valuation band divided by the number which that proportion is applicable to dwellings listed in valuation band D, calculated by the Council, in accordance with Section 36(1) of the Act, as amounts to be taken into account for the year in respect of categories of dwellings listed in different valuation bands.

(Council tax including Parish precepts for each council tax band and Parish)

3.3 To note that for the year 2008/2009 the County Council, Police Authority and Fire Authority have issued precepts to the Council in accordance with Section 40 of the Local Government Finance Act 1992 for each category of dwellings in the Council's area as shown below:

	Worcestershire County Council	West Mercia Police Authority	Hereford and Worcester Fire and Rescue Authority
	<u>£</u>	£	<u>£</u>
Band A	656.51	110.30	45.47
Band B	765.93	128.69	53.05
Band C	875.35	147.07	60.63
Band D	984.77	165.45	68.21
Band E	1,203.60	202.22	83.37
Band F	1,422.44	238.99	98.53
Band G	1,641.28	275.75	113.68
Band H	1,969.53	330.90	136.42

3.4 To resolve that, having calculated the aggregate in each case of the amounts at (2)(i) and (3.3) above, the Council, in accordance with Section 30(2) of the Local Government Finance Act 1992, hereby sets the amounts shown in Appendix 3 as the amounts of council tax for the year 2008/2009 for each of the categories of dwellings.

- 4. Authorisation of Officers to collect and recover Council Tax and Business Rates:
 - Mr. D. Buckland, Head of Financial Services, Mrs. J. Hill, Financial Services Manager; Mrs. T. Southall, Accountancy Services Manager; Mr. S. Edmonds, Accountancy Services Manager; Mr. P.B. McGill, Principal Revenues Officer; Mrs. F. Johnson, Senior Revenues Officer, Mrs. L. Hall, Mrs. S. Clayphan and Mrs. V. Sloane, Revenue Team Leaders; Mrs C. S. Newlands, Head of Legal and Democratic Services; Mrs. M. Morgan, Licensing and Litigation Solicitor; Mrs. J. Alexander, Planning, Property and Commercial Solicitor; Mrs. B.M. Vickers, Litigation Legal Executive, or any other person specifically authorised by the Head of Legal and Democratic Services, appointed to the said offices under Section 112 of the Local Government Act 1972, be hereby authorised:-
 - (a) to demand, collect and recover any Council Tax or National Non-Domestic Rate made by the Council under the Local Government Finance Acts 1988 and 1992;
 - (b) to demand, collect and recover any penalties under Schedules 3 and 4 to the Local Government Finance Acts 1988 and 1992;
 - (c) under Section 223 of the Local Government Act 1972 and all other powers enabling them to prosecute and to appear on behalf of the Council at the hearing of legal proceedings in connection with the demand, collection and recovery of any Council Tax, National Non-Domestic Rate, Community Charge and General Rates made by the Council and/or any penalties imposed under the Local Government Finance Acts 1988 and 1992; and
 - (d) to make such amendments to the Council Tax and National Non-Domestic Rate as are authorised by the Local Government Finance Acts 1988 and 1992 and other legislation in force from time to time. Further, the Head of Financial Services, Financial Services Manager be authorised to impose penalties in accordance with Schedule 3 to the Local Government Finance Act 1992, with regard to the supply of information for Council Tax purposes.

COUNCIL TAX SPECIAL ITEMS 2008/2009

Column Number	₹-1	%	ကျ	41
Parts of the Council's Area	Special Item (Parish Precept)	Tax Base	Council Tax for Special Item (Parish Precept)	Total Basic Council Tax (District plus Parish)
The Charter Trustees Town of Kidderminster	75,500	17,969	4.20	192.30
The Parish/Town Council of:				
Upper Arley	10,563	327	32.30	220.40
Bewdley	77,775	3,694	21.05	209.15
Broome	1,800	173	10.40	198.50
Chaddesley Corbett	21,783	724	30.09	218.19
Churchill & Blakedown	15,652	746	20.98	209.08
Kidderminster Foreign	6,163	385	16.01	204.11
Rock	22,200	1,210	18.35	206.45
Rushock	1,500	74	20.27	208.37
Stone	1,536	255	6.02	194.12
Stourport-on-Severn	149,627	7,138	20.96	209.06
Wolverley & Cookley	36,125	1,762	20.50	208.60
TOTAL	£420,224			

VALUATION BANDS 2008/2009 (Council Tax Including Parish Precepts)

Part of the Council's Area	A	m	ပ	Ω :	<u>.</u>	ш (9	Ξ¢
	цı	ti	3	£	E	£	4	*1
The Charter Trustees Town of Kidderminster	128.20	149.57	170.93	192.30	235.03	277.77	320.50	384.60
The Parish/Town Council of:			.,,,,,					
Upper Arley	146.93	171.42	195.91	220.40	269.38	318.36	367.33	440.80
Bewdley	139.43	162.67	185.91	209.15	255.63	302.11	348.58	418.30
Broome	132.33	154.39	176.44	198.50	242.61	286.72	330.83	397.00
Chaddesley Corbett	145.46	169.70	193.95	218.19	266.68	315.16	363.65	436.38
Churchill & Blakedown	139.39	162.62	185.85	209.08	255.54	302.00	348.47	418.16
Kidderminster Foreign	136.07	158.75	181.43	204.11	249.47	294.83	340.18	408.22
Ribbesford	125.40	146.30	167.20	188.10	229.90	271.70	313.50	376.20
Rock	137.63	160.57	183.51	206.45	252.33	298.21	344.08	412.90
Rushock	138.91	162.07	185.22	208.37	254.67	300.98	347.28	416.74
Stone	129.41	150.98	172.55	194.12	237.26	280.40	323.53	388.24
Stourport-on-Severn	139.37	162.60	185.83	209.06	255.52	301.98	348.43	418.12
Wolverley & Cookley	139.07	162.24	185.42	208.60	254.96	301.31	347.67	417.20

AGENDA ITEM NO. 11 Page 6 of 7

Council 27/02/08

VALUATION BANDS 2008/2009 (Total Council Tax Payable)

The Charter Trustees The Charter Trustees 1,097. Town of Kidderminster 940.48 1,097. The Parish/Town Council of: 959.21 1,119. Upper Arley 951.71 1,110. Bewdley 944.61 1,102. Chaddesley Corbett 957.74 1,117. Churchill & Blakedown 951.67 1,110. Kidderminster Foreign 948.35 1,106.		1,253.98 1,410.73 1,278.96 1,438.83 1,268.96 1,427.58		2,037.73	2,351.21	2,821.45
959.21 951.71 944.61 957.74 951.67				2,078.32		•
959.21 951.71 944.61 957.74 951.67				2,078.32		,
951.71 944.61 957.74 951.67 948.35			-	0000	2,398.04	2,877.65
944.61 957.74 951.67 948.35				2,062.07	2,379.29	2,855.15
957.74 951.67 948.35			1,731.80	2,046.68	2,361.54	2,833.85
951.67	1,117.37 1,27	1,277.00 1,436.62	1,755.87	2,075.12	2,394.36	2,873.23
948.35	1,110.29 1,26	1,268.90 1,427.51	1,744.73	2,061.96	2,379.18	2,855.01
	1,106.42 1,26	1,264.48 1,422.54	1,738.66	2,054.79	2,370.89	2,845.07
Ribbesford 937.68 1,093	1,093.97 1,25	1,250.25 1,406.53	1,719.09	2,031.66	2,344.21	2,813.05
Rock 949.91 1,108	1,108.24 1,26	1,266.56 1,424.88	1,741.52	2,058.17	2,374.79	2,849.75
ock 951.19	1,109.74 1,26	1,268.27 1,426.80	1,743.86	2,060.94	2,377.99	2,853.59
941.69	1,098.65 1,25	,255.60 1,412.55	1,726.45	2,040.36	2,354.24	2,825.09
ort-on-Severn 951.65	1,110.27 1,26	1,268.88 1,427.49	1,744.71	2,061.94	2,379.14	2,854.97
951.35	1,109.91	1,268.47 1,427.03	1,744.15	2,061.27	2,378.38	2,854.05

AGENDA ITEM NO. 11 Page 7 of 7